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6 Government policy related to public expenditure, public revenew and
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7) At breakeven point the firm faces
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8) Gevermet revenue is more than government expenditure, the budget is
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9 The situation where market demand equals market supply is called
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11 Difference between Cardinal and Ordinal utility.
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13) Write down the features of Perfect competition
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14, Write down the short note on paradox of thrift .
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15, Explain market equilibrium with diagram.
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16) Complete the following table
Feature of centrally planned Features of Market Economy
Economy
1 1
2 2 l
3 3 I
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17) Write a short note on emergence of Macro economics.
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18) Write down the diterminants of supply curve.
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a) Complete given diagram
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b) Mark the real flows and money flows
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20 lllustrate graphically the government intervention in the economy to
protect the consumers.
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21) Explain the speculative motive and transaction motive
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22) For an economy autonomous consumption expenditure is 200 crore
autonomous investment 100 crore MPC =0.7then calculate

equilibrium income.
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23) Explain the short run production function
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24) Diagramatically explain fixed and flexible exchange rate.
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25 Define perfect competetion, write down profit maximisation conditions
of a firm ( short run)
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26) Draw a chart showing components of government budject.
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27) Complete the table

Output | TFC | TVC|TC |AFC |AVC |AC |MC
1 50 30
2 50
3 60
4 62
5 Fis

28) Mr.Ramu wants to consume two goods.The price of two goods are Rs
584 respectivly .If Ramu_s income is Rs. 20 Answer the following ques-
tions.

a) write down the equations of budjet line?

b) Find the horizontal & vertical intercept?

o) Find the slope of the budget line

d) Draw the budget line

e) How does the budget line changes if the consumers income increases
from Rs. 20 to Rs 40 but price remain unchanged?
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29 Explain the methods of measuring national income by income method
and expenditure method ?
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